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1. Find the rule which gives the number of matchsticks
required to make the following matchstick patterns. Use a

variable to write the rule. (a) A pattern f letter Z as

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_jNSYCeoifoCV
https://dl.doubtnut.com/l/_qmWk2yxCyrAj

2. Find the rule which gives the number of matchsticks
required to make the following matchstick patterns. Use a

variable to write the rule. (a) A pattern f letter U as

° Watch Video Solution

3. Find the rule which gives the number of matchsticks
required to make the following matchstick patterns. Use a

variable to write the rule. (a) A pattern f letter V as

o Watch Video Solution

4. Find the rule which gives the number of matchsticks

required to make the following matchstick patterns. Use a


https://dl.doubtnut.com/l/_qmWk2yxCyrAj
https://dl.doubtnut.com/l/_PwmYpwhzPaiO
https://dl.doubtnut.com/l/_eYBekL1lwJca

variable to write the rule. (a) A pattern f letter E as

° Watch Video Solution

5. Find the rule which gives the number of matchsticks
required to make the following matchstick patterns. Use a

variable to write the rule. A pattern f letter S as

o Watch Video Solution

6. Find the rule which gives the number of matchsticks
required to make the following matchstick patterns. Use a

variable to write the rule. (a) A pattern f letter T as

o Watch Video Solution



https://dl.doubtnut.com/l/_eYBekL1lwJca
https://dl.doubtnut.com/l/_p5lcb5d3FQV8
https://dl.doubtnut.com/l/_klXiLq1Tz5dJ

7. Find the rule which gives the number of matchsticks
required to make the following matchstick patterns. Use a

variable to write the rule. (a) A pattern f letter T as

o Watch Video Solution

8. Cadets are marching in a parade. There are 5 cadets in
a row. What is the rule which gives the number of cadets,
given the number of rows? (Use n for the number of

rows.)

o Watch Video Solution



https://dl.doubtnut.com/l/_6eWmodsCQ4YA
https://dl.doubtnut.com/l/_Pb8viwNKU3aL

9. If there are 50 mangoes in a box, how will you write the
total number of mangoes in terms of the number of

boxes? (useb for the number of boxes.)

o Watch Video Solution

10. The teacher distributes 5 pencils per student. Can you
tell how many pencils are needed, given the number of

students? (Use s for the number of students.)

o Watch Video Solution

11. A bird flies 1 kilometer in one minute. Can you express

the distance covered by the bird in terms of its flying time


https://dl.doubtnut.com/l/_gg40zxrHAk4I
https://dl.doubtnut.com/l/_dx8FboQ1Pxeg
https://dl.doubtnut.com/l/_Db34zZ8OJuE1

in minutes?(Use t for flying time in minutes.)

o Watch Video Solution

12. Radha is drawing a dot Rangoli (a beautiful pattern of
lines joining dots) with chalk powder. She has 9 dots in a
row. How many dots will her Rangoli have for r rows? How

many dots are there if there are 8 rows? If there are 10


https://dl.doubtnut.com/l/_Db34zZ8OJuE1
https://dl.doubtnut.com/l/_ll9SBViRzntr

rows?

o Watch Video Solution



https://dl.doubtnut.com/l/_ll9SBViRzntr

13. Leela is Radha's younger sister. Leela is 4 years youger
than Radha. Can you write Leela's age in terms of Radha's

age ? Take Radha's age to be x years.

o Watch Video Solution

14. Mother has made laddus. She gives some laddus to
guests and family members, still 5 laddus remain. If the

number of laddus mother gave away is |, how many

laddus did she make?

o Watch Video Solution



https://dl.doubtnut.com/l/_IvzP2gxrWBwv
https://dl.doubtnut.com/l/_AN3YPeVfV6Bq

15. Oranges are to be transferred from larger boxes into
smaller boxes. When a large box is emptied, the oranges
from it fill two smaller boxes and still 10 oranges remain
outside. If the number of oranges in a small box are taken

to be x, what is the number of oranges in the larger box?

° Watch Video Solution

16. (a)Look at the following matchstick pattern of squares
(Fig 11.6). The squares are not separate. Two neighbouring
squares have a common matchstick. Observe the patterns
and find the rule that gives the number of matchsticks in

terms of the number of squares. (Hint: If you remove the


https://dl.doubtnut.com/l/_dEYUqxZXvC0S
https://dl.doubtnut.com/l/_KF0Cddkmiczd

vertical stick at the end, you will get a pattern of Cs.)

““q11-a-ook-at-the-following-ma | LIDO

o Watch Video Solution

17. (a)Look at the following matchstick pattern of squares
(Fig 11.6). The squares are not separate. Two neighbouring
squares have a common matchstick. Observe the patterns
and find the rule that gives the number of matchsticks in
terms of the number of squares. (Hint: If you remove the
vertical stick at the end, you will get a pattern of Cs.)(c)

L

l""""'-q11-a-|ook-at-the-fo|Iowing-ma | LIDO

o Watch Video Solution



https://dl.doubtnut.com/l/_KF0Cddkmiczd
https://dl.doubtnut.com/l/_iuaKFKDPgSyw

18. (a)Look at the following matchstick pattern of squares
(Fig 11.6). The squares are not separate. Two neighbouring
squares have a common matchstick. Observe the patterns
and find the rule that gives the number of matchsticks in
terms of the number of squares. (Hint: If you remove the
vertical stick at the end, you will get a pattern of Cs.)(d)

““q11-a-look-at-the-following-ma | LIDO

" |
A. gMl-a-ook-at-the-following-ma | LIDO

Answer:



https://dl.doubtnut.com/l/_v125cOJMizFC

[ W Watch Video Solution ]

19. (b) Fig 11.7 gives a matchstick pattern of triangles. As
in Exercise 11 (a) above, find the general rule that gives
the number of matchsticks in terms of the number of
triangles. (a)

l"""'q11-a-|ook-at-the-fo|Iowing-ma | LIDO

P
A. gM-a-ook-at-the-following-ma | LIDO

Answer:

l o Wiak~hh \NiAAA CAliikian



https://dl.doubtnut.com/l/_v125cOJMizFC
https://dl.doubtnut.com/l/_xPjzQvm3BaA1

20. (b) Fig 11.7 gives a matchstick pattern of triangles. As
in Exercise 11 (a) above, find the general rule that gives
the number of matchsticks in terms of the number of

triangles.(b)



https://dl.doubtnut.com/l/_xPjzQvm3BaA1
https://dl.doubtnut.com/l/_HlJkrN8dsvyu

Answer:

o Watch Video Solution

21. (b) Fig 11.7 gives a matchstick pattern of triangles. As
in Exercise 11 (a) above, find the general rule that gives
the number of matchsticks in terms of the number of

triangles.(c)

L

" A
A. gMl-a-ook-at-the-following-ma | LIDO


https://dl.doubtnut.com/l/_HlJkrN8dsvyu
https://dl.doubtnut.com/l/_OF2WWgtXcvm2

Answer:

° Watch Video Solution

22. (b) Fig 11.7 gives a matchstick pattern of triangles. As
in Exercise 11 (a) above, find the general rule that gives
the number of matchsticks in terms of the number of

triangles.(c)

o Watch Video Solution



https://dl.doubtnut.com/l/_OF2WWgtXcvm2
https://dl.doubtnut.com/l/_oqBDc4IjfaVl

23. The side of an equilateral triangle is shown by I.

Express the perimeter of the equilateral triangle using |.

o Watch Video Solution

24. The side of a rehular hexagon (Fig.) is denoted by I.

Express the perimeter of the hexagon using l.(Hint : A


https://dl.doubtnut.com/l/_ksU5IYSOryeD
https://dl.doubtnut.com/l/_HzGTmnlfIJLr

regular hexagon has all its six sides equal in length.)
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o Watch Video Solution

25. A cube is a three-dimensional figure as shown in Fig. It

has six faces and all of them are identical squares. The


https://dl.doubtnut.com/l/_HzGTmnlfIJLr
https://dl.doubtnut.com/l/_PerS3mkMddkZ

length of an edge of the cube is given by I. Find the

formula for the total length of the edges of a cube.

l~ 000 ]


https://dl.doubtnut.com/l/_PerS3mkMddkZ

[ W Watch Video Solution ]

26. The diameter of a circle is a line which joins two
points on the circle and also passes through the centre
of the circle. (In the adjoining figure (Fig 1112) AB is a

diameter of the circle, C is its centre.) Express the


https://dl.doubtnut.com/l/_PerS3mkMddkZ
https://dl.doubtnut.com/l/_z6tu69FknErr

diameter of the circle (d) in terms of its radius (r).

° Watch Video Solution



https://dl.doubtnut.com/l/_z6tu69FknErr

27. To find sum of three numbers 14,27 and 13, we can
have two ways:(a) We may first add 14 and 27 to get 41
and then add 13 to it to get the total sum 54 (b) or we
may add 27 and 13 to get 40 and then add 14 to get the

sum 54

° Watch Video Solution

28. To find sum of three numbers 14,27 and 13, we can
have two ways : we may first add 14 and 27 to get 41 and
then add 13 to it to get the total sum 54 (b) or We may
add 27 and 13 to get 40 and then add 14 to get the sum

54.Thus, (14+27)+13 = 14+(27+13)

o Watch Video Solution



https://dl.doubtnut.com/l/_Y3rFMrvQ7Kup
https://dl.doubtnut.com/l/_95oXVfKyeNWI

29. Make up as many expressions with numbers (on
variables) as you can from three 5,7 and 8. Every number
should be used not more than once. Use only addition,
subtraction and multiplication. (Hint: Three possible
expressions are 5+(8-7), 5-(8-7),(5x8)+7, make the other

expressions.)

o Watch Video Solution

30. Which out of the following are expressions with

numbers only? (a) y+3

o Watch Video Solution



https://dl.doubtnut.com/l/_95oXVfKyeNWI
https://dl.doubtnut.com/l/_SqchFHGNskhR
https://dl.doubtnut.com/l/_sdQ5WzP85Xca
https://dl.doubtnut.com/l/_uB7BGF0N6ORb

31. Which out of the following are expressions with

numbers only? (b) (7x20)-8z

o Watch Video Solution

32. Which out of the following are expressions with

numbers only? (c) 5(21-7)+7x2

o Watch Video Solution

33. Which out of the following are expressions with

numbers only? (d) 5

o Watch Video Solution



https://dl.doubtnut.com/l/_uB7BGF0N6ORb
https://dl.doubtnut.com/l/_VBBtYqnrk8Lj
https://dl.doubtnut.com/l/_y1A4xwqVf4yA

34. Which out of the following are expressions with

numbers only? (e) 3x

o Watch Video Solution

35. Which out of the following are expressions with

numbers only? (f) 5-5n

o Watch Video Solution

36. Which out of the following are expressions with

numbers only? (g) (7x20)-(5x10)-45+p

° Watch Video Solution



https://dl.doubtnut.com/l/_LwSKovEkhqZW
https://dl.doubtnut.com/l/_2T3hvWuqWXGJ
https://dl.doubtnut.com/l/_BzqdRkzcHckK

37. Identify the operations (addition, subtraction, division,
multiplication) in forming the following expressions and
tell how the expressions have been formed. (a) z+1,z-

1y+17,y-17

o Watch Video Solution

38. Identify the operations (addition, subtraction, division,
multiplication) in forming the following expressions and

tell how the expressions have been formed. (b) 17y,y/17,5z

o Watch Video Solution



https://dl.doubtnut.com/l/_VKwUMc8WNxbK
https://dl.doubtnut.com/l/_0dNfpy9UCbvd

39. Identify the operations (addition, subtraction, division,
multiplication) in forming the following expressions and

tell how the expressions have been formed. (c) 2y+17,2y-17

o Watch Video Solution

40. Identify the operations (addition, subtraction,
division, multiplication) in forming the following
expressions and tell how the expressions have been

formed. (d) 7m,7m+3,7m-3

o Watch Video Solution



https://dl.doubtnut.com/l/_7fZuR0J9J7z8
https://dl.doubtnut.com/l/_3gLluvaevuOM

41. Give expressions for the following cases.(a) 7 added to

o Watch Video Solution

42. Give expressions for the following cases.b) 7

subtracted from p

o Watch Video Solution

43. Give expressions for the following cases.(c) p

multiplied by 7

o Watch Video Solution



https://dl.doubtnut.com/l/_Lp5i3yqi1Hca
https://dl.doubtnut.com/l/_hNihf82DpEEU
https://dl.doubtnut.com/l/_pQI0suMMfiax

44, Give expressions for the following cases.(d) p divided

by 7

o Watch Video Solution

45. Give expressions for the following cases.(e) 7

subtracted from -m

o Watch Video Solution

46. Give expressions for the following cases.(f) -p

multiplied by 5

o Watch Video Solution



https://dl.doubtnut.com/l/_Hx6I7OhrL6RP
https://dl.doubtnut.com/l/_8RYqPVGLnGJn
https://dl.doubtnut.com/l/_lJS3x6qGZDl8

47. Give expressions for the following cases.(g) -p divided

by 5

o Watch Video Solution

48. Give expressions for the following cases.(h) p

multiplied by -5

o Watch Video Solution

49, Give expressions in the following cases. (a) 11 added to

2m

o Watch Video Solution



https://dl.doubtnut.com/l/_sJEfGt2j1xic
https://dl.doubtnut.com/l/_NnGGuzfoiDQJ
https://dl.doubtnut.com/l/_mRY2hpe34O0f

50. Give expressions in the following cases. (b) 11

subtracted from 2m

o Watch Video Solution

51. Give expressions in the following cases. ( c) 5 times y

to which 3 is added

o Watch Video Solution

52. Give expressions in the following cases. (d) 5 times y

from which 3 is subtracted

o Watch Video Solution



https://dl.doubtnut.com/l/_Hmik5YV6RDMa
https://dl.doubtnut.com/l/_XP7VqCg8NJsk
https://dl.doubtnut.com/l/_JxzgwsU9U0Oy

53. Give expressions in the following cases. (e) y is

multiplied by -8

o Watch Video Solution

54. Give expressions in the following cases. (f) y is

multiplied by -8 and then 5 is added to the result

o Watch Video Solution

55. Give expressions in the following cases. (g) y is

multiplied by 5 and the result is subtracted from 16

° Watch Video Solution



https://dl.doubtnut.com/l/_IzoTeQd54pWZ
https://dl.doubtnut.com/l/_GEevfXDG0C54
https://dl.doubtnut.com/l/_9g4jzMkhjMYT

56. Give expressions in the following cases.(h) y is

multiplied by -5 and the result is added to 16.

o Watch Video Solution

57. From expressions using t and 4. Use not more than

one number operation. Every expression must have t in it.

o Watch Video Solution

58. From expressions using y,2 and 7. Every expression
must have y in it. Use only two number operations. These

should be different.

I o Watch Video Solution


https://dl.doubtnut.com/l/_eKhsGe4nDTfK
https://dl.doubtnut.com/l/_MxsJRBUyKBN0
https://dl.doubtnut.com/l/_PSw10VyOFO31

59. Answer the following: (a) Take Sarita's present age to

be y years (i) What will be her age 5 years from now?

o Watch Video Solution

60. Answer the following: (a) Take Sarita's present age to

be y years (ii) What was her age 3 years back?

o Watch Video Solution

61. Answer the following: (a) Take Sarita's present age to

be y years (iii) Sarita's grandfather is 6 times her age.


https://dl.doubtnut.com/l/_PSw10VyOFO31
https://dl.doubtnut.com/l/_uTR693mpZkPT
https://dl.doubtnut.com/l/_Zgeo8IRy0RaO
https://dl.doubtnut.com/l/_vDDsqTGYyICi

What is the age of her grandfather?

° Watch Video Solution

62. Answer the following: (a) Take Sarita's present age to
be y years (iv) Grandmother is 2 years younger than

grandfather. What is grandmother's age?

o Watch Video Solution

63. Answer the following: (a) Take Sarita's present age to
be y years (v) Sarita's father's age 5 years more than 3

times Sarita's age. What is her father's age?

o Watch Video Solution



https://dl.doubtnut.com/l/_vDDsqTGYyICi
https://dl.doubtnut.com/l/_1AE4jdbP5YBN
https://dl.doubtnut.com/l/_WnIpxMgGVe9Q

64. Answer the following: (b) The length of a rectangular
hall is 4 meters less than 3 times the breadth of the hall.

What is the length, if the breadth is b meters?

o Watch Video Solution

65. Answer the following: (c) A rectangular box has height
h cm. Its length is 5 times the heigth and breadth is 10 cm
less than the length. Express the length and the breadth

of the box in terms of the height.

o Watch Video Solution



https://dl.doubtnut.com/l/_qdO6L7hupZ4y
https://dl.doubtnut.com/l/_77SEtfyxz2VB

66. Answer the following: (d) Meena, Beena and Leena are
climbing the steps to the hill top. Meena is at step s,
Beena is 8steps ahead and Leena 7 steps behind. Where
are Beena and Meena? The total number of steps to the
hill top is 10 less than 4 times what Meena has reached.

Express the total number of steps using s.

° Watch Video Solution

67. Answer the following: (e) A bus travels at v km per
hour. It is going from Daspur to Beespur. After the bus
has travelled 5 hours, Beespur is still 20 km away. What is

the distance from Daspur to Beespur? Express it using v.

o Watch Video Solution



https://dl.doubtnut.com/l/_BIA3vK0IQLKG
https://dl.doubtnut.com/l/_gPgvJv10mxne

68. Change the following statements using expressions
into statements in ordinary language. (For example, Given
Salim scores r runs in a cricket match, Nalin scores (r +15)
runs. In ordinary language-Nalin scores 15 runs more than

Salim.)(a) A notebook costs?¥ p. A book costs ¥ 3 p.

° Watch Video Solution

69. Change the following statements using expressions
into statements in ordinary language. (For example, Given
Salim scores r runs in a cricket match, Nalin scores (r +15)

runs. In ordinary language-Nalin scores 15 runs more than


https://dl.doubtnut.com/l/_gPgvJv10mxne
https://dl.doubtnut.com/l/_UpzrfcM67H2I
https://dl.doubtnut.com/l/_dM58JKIoGxlN

Salim.)(b) Tony puts q marbles on the table. He has 8 g

marbles in his box.

o Watch Video Solution

70. Change the following statements using expressions
into statements in ordinary language. (For example, Given
Salim scores r runs in a cricket match, Nalin scores (r +15)
runs. In ordinary language-Nalin scores 15 runs more than
Salim.)(c ) Our class has n students. The school has 20 n

students.

o Watch Video Solution



https://dl.doubtnut.com/l/_dM58JKIoGxlN
https://dl.doubtnut.com/l/_elCtGwZ9ToTW

71. Change the following statements using expressions
into statements in ordinary language. (For example, Given
Salim scores r runs in a cricket match, Nalin scores (r +15)
runs. In ordinary language-Nalin scores 15 runs more than
Salim.)(d) Jaggu is z years old. His uncle is 4 z years old

and his anut is (4z-3) years old.

o Watch Video Solution

72. Change the following statements using expressions
into statements in ordinary language. (For example, Given
Salim scores r runs in a cricket match, Nalin scores (r +15)

runs. In ordinary language-Nalin scores 15 runs more than


https://dl.doubtnut.com/l/_zbeYuqpRCoo4
https://dl.doubtnut.com/l/_C0KYLWZAdW5m

Salim.)(e) In an arrangement of dots there are r rows.

Each row contains 5 dots.

o Watch Video Solution

73. (a) Given Munnu's age to be x years, can you guess
what (x-2) may show? (Hint: Think of Munnu's younger
brother) Can you guess what (x+4) may show? What

(3x+7) may show?

o Watch Video Solution

74. (b) Given Sara's age today to be y years. Think of her
age in the future or in the past. What will the following

expression indicate? Y+7,y-3,y+4 1/2,y-2 1/2.


https://dl.doubtnut.com/l/_C0KYLWZAdW5m
https://dl.doubtnut.com/l/_gYwNLvDDybuo
https://dl.doubtnut.com/l/_LdnueYuE2aRz

° Watch Video Solution

75. (c ) Given n students in the class like football, what
may 2n show? What may n/2 show? (Hint: Think of games

other than football).

o Watch Video Solution

76. State which of the following are equations (with a
variable). Give reason for your answer. Identify the

vaeiable from the equations with a variable. (a) 17=x+7

o Watch Video Solution



https://dl.doubtnut.com/l/_LdnueYuE2aRz
https://dl.doubtnut.com/l/_aaSlDK7TPvKi
https://dl.doubtnut.com/l/_EP03lYNBb8RY

77. State which of the following are equations (with a
variable). Give reason for your answer. Identify the

vaeiable from the equations with a variable. (b) (t-7)>5

o Watch Video Solution

78. State which of the following are equations (with a
variable). Give reason for your answer. Identify the

vaeiable from the equations with a variable. (c) 4/2=2

o Watch Video Solution

79. State which of the following are equations (with a

variable). Give reason for your answer. ldentify the


https://dl.doubtnut.com/l/_uhNUcCtQBbRE
https://dl.doubtnut.com/l/_kUau75NjN6Zv
https://dl.doubtnut.com/l/_SGBh8u8L7DKu

vaeiable from the equations with a variable. (d) (7x3)-19=8

° Watch Video Solution

80. State which of the following are equations (with a
variable). Give reason for your answer. Identify the

vaeiable from the equations with a variable. (e) 5x4-8=2x

o Watch Video Solution

81. State which of the following are equations (with a
variable). Give reason for your answer. Identify the

vaeiable from the equations with a variable. (f) x-2=0

o Watch Video Solution



https://dl.doubtnut.com/l/_SGBh8u8L7DKu
https://dl.doubtnut.com/l/_1Xu7Ycyo6Dod
https://dl.doubtnut.com/l/_Z6m8JlWT9DQw

82. State which of the following are equations (with a
variable). Give reason for your answer. Identify the

vaeiable from the equations with a variable. (g) 2m<30

o Watch Video Solution

83. State which of the following are equations (with a
variable). Give reason for your answer. Identify the

vaeiable from the equations with a variable. (h) 2n+1=11

o Watch Video Solution

84. State which of the following are equations (with a

variable). Give reason for your answer. ldentify the


https://dl.doubtnut.com/l/_4Lm11xx7tMia
https://dl.doubtnut.com/l/_UpikS4Dvd8mt
https://dl.doubtnut.com/l/_4Jc0FOYEsfyO

vaeiable from the equations with a variable. (i) 7=(11x5)=

(12x4)

o Watch Video Solution

85. State which of the following are equations (with a
variable). Give reason for your answer. Identify the

vaeiable from the equations with a variable. (j) 7=(11x2)+p

o Watch Video Solution

86. State which of the following are equations (with a
variable). Give reason for your answer. Ildentify the
vaeiable from the equations with a variable. (k)

20=5y(1)3q/2<5


https://dl.doubtnut.com/l/_4Jc0FOYEsfyO
https://dl.doubtnut.com/l/_B7ix0tD59jgH
https://dl.doubtnut.com/l/_HNd9l6pj702S

° Watch Video Solution

87. State which of the following are equations (with a
variable). Give reason for your answer. Identify the

vaeiable from the equations with a variable. (m) z+12>24

o Watch Video Solution

88. State which of the following are equations (with a
variable). Give reason for your answer. Identify the
vaeiable from the equations with a variable. (n) 20-(10-

5)=3x5

o Watch Video Solution



https://dl.doubtnut.com/l/_HNd9l6pj702S
https://dl.doubtnut.com/l/_2D8C7mVM5CCA
https://dl.doubtnut.com/l/_bh9docCyhoNT

89. State which of the following are equations (with a
variable). Give reason for your answer. Identify the

vaeiable from the equations with a variable. (o) 7-x=5

o Watch Video Solution



https://dl.doubtnut.com/l/_5ez1u4R6uPOc

90. Complete the entries in the third column of the table.

7-=d [=¢+d (b)
[-=d I=t+d (d)
0=d I=¢+d (o)

=d T=¢+d ()
g=d I=g+d (w)
D=4y S=8-4 m
8=4 S=8-4 £
£l=y S=8-Y4 ()]
F=q 6=5+4 m
6=9 6=5+9 w
=9 6=5+¢ (3
5=/ 0T=1It 13
08=1 0Z=1v (?)
0T=1 0T=1r (p)
Gmd 08 =401 (0)
g =" 08 =401 (q)
0L=A 08 =401 ()

ON/FAR i
paysnEs uonenby A qBLIEA JO IN[EA uopenby

ON 'S

o Watch Video Solution



https://dl.doubtnut.com/l/_p7hVKHL5VA97

91. Pick out the solution from the values given in the
bracket next to each equation. Show that the other

values do not satisfy the equation. (a) 5m=60(10,5,12,15)

o Watch Video Solution

92. Pick out the solution from the values given in the
bracket next to each equation. Show that the other

values do not satisfy the equation. (b) n+12=20(12,8,20,0)

o Watch Video Solution

93. Pick out the solution from the values given in the

bracket next to each equation. Show that the other


https://dl.doubtnut.com/l/_GCusFxIxy83U
https://dl.doubtnut.com/l/_5UEU2wcVC3Pr
https://dl.doubtnut.com/l/_LDfr6s37nEUO

values do not satisfy the equation. (c) p-5=5(0,10,5-5)

o Watch Video Solution

94. Pick out the solution from the values given in the
bracket next to each equation. Show that the other

values do not satisfy the equation. (d) q/2=7(7,2,10,14)

o Watch Video Solution

95. Pick out the solution from the values given in the
bracket next to each equation. Show that the other

values do not satisfy the equation. (e) r-4=0(4,-4,8,0)

o Watch Video Solution



https://dl.doubtnut.com/l/_LDfr6s37nEUO
https://dl.doubtnut.com/l/_yPh4Yd0UWgB0
https://dl.doubtnut.com/l/_E5ahXEh1gEjy

96. Pick out the solution from the values given in the
bracket next to each equation. Show that the other

values do not satisfy the equation. (f) x+4=2(-2,0,2,4)

o Watch Video Solution

97.(a) Complete the table and by inspection of the table,

find the solution to the equation m+10=16.

o Watch Video Solution

98. (b) Complete the table and by inspection of the table,

find the solution to the equation 5t=35.

I ° Watch Video Solution


https://dl.doubtnut.com/l/_iTzr2KRGyvvc
https://dl.doubtnut.com/l/_ONt3zmpbRAON
https://dl.doubtnut.com/l/_9Nr27upzOXlf

99. (c) Complete the table and find the solution to the

equation z/3=4 using the table.

o Watch Video Solution

100. (d) Complete the table find the solution to the

equation m-7=3.

o Watch Video Solution



https://dl.doubtnut.com/l/_9Nr27upzOXlf
https://dl.doubtnut.com/l/_iDxoXCv5fj7C
https://dl.doubtnut.com/l/_mt2MO5GCxgyc

